IR . HRiAE

B B 1-2H [ bk 18 4<%
triz it Jmg 1085.38 1.5
/NI T3 1031.75 12
KB Jmg 53.33 6.1
= T3 0.30 36.6
e R e TS B 100113 -5.3
/NI PILLIYAN:N 60847 -0.2
K T s B 38802 -12.7
= Ty i 464 44.2
Ko DN 137.67 5.7
NN DIPN 60.81 6.6
KB DN 0
it == DIPN 76.86 18.0
TR 2 Jo A TNAH 121253 18.9
NI TNAH 10116 -12.0
KBk DIPNUNEES 0
i = PIPN/N 111138 22.9
EARNAE7 Rl Ry J3 503.2 -0.3
#ilk LA At TIbRAd 25.0 3.8
S FE Y 55 WA it 438783 18.4
AR Bt R 2 AN IPN/ 150.12 27.0
[ i 25 VIPN/ S 3.21 -6.1
Rl DIPN/N 146.91 28.0

U ORI B i sclsin Rt i B i Sl iiRiis A J Rt
OARRACHBARAT . KA 18 5



